CW 3.1
1.
The total cost of renting a car at Price Rental is determined by the number days a car is rented, at $50 per day, and the number of miles it is driven, at $0.25 per mile. The company uses the expression 50x + 0.25y to evaluate the total cost of renting a car.

What does the variable x represent?
A. the total number of days rented

B. the total number of miles driven

C. the total amount charged per rental day

D. the total amount charged per mile driven

2.
The expression 8750(3)x represents the number of people that visit at an exhibit in year x.

The number of people that visit an exhibit ______ at a rate of ______ each year.
(A)                             (B)

3. 
Let c be any rational non-zero number. Let d be any irrational number.

The quotient of c and d can be classified as ___________ 






     (A)
The difference of c and d can be classified as ___________ 






       (B)

4.
Simplify [image: image2.png](5%5 +7x3) - (3 - 4x3)




5.
Let P(x) = 3x2 + 5x – 6 and R(x) = –2x2 + 3x + 7. 
Find R(x) – P(x) in simplest form.

6.
Consider the expression (4x2 – 25)(x + 3) = 0.



Give all the values of x.
7.
Ricky is building a rectangular garden with an area of 100 square feet. He wants the length of the garden to equal 2 feet less than 4 times the width.

Write an equation that expresses the area of the garden in terms of the width, w, of the garden.
8.
Sandra wants to purchase tickets for $8.75 each from a company that charges a one-time fee of $18.50 for using the service. Sandra's total purchase cannot exceed $200.
Write an inequality to determine the number of tickets, t, Sandra can purchase.

9.
Write an expression that is equivalent to 121 – a2.

10.
Factor of 100x2 + 1200x + 3200

11.
Holly is going into business as a sidewalk ice cream vendor. The start-up cost for her refrigerated cart and her sales permit is $500. She also purchased 600 ice cream items at $0.55 each. Holly sells each ice cream item for $1.25 each. Write an equation represents Holly’s profit, y, based on the number of ice cream items, x, she sells.

12.
Use the formula A = s2 – 2rs, where s is the side length of the base and r is the slant height to write a formula that will find the slant height?

13.
Graph the solution to the inequality 5(x + 2) ≥ 7x on the number line.

14.
Which value(s) of x satisfies the equation 4x(x + 7) = 5x2 + 3(9x – 4)?

15.
Consider the functions f(x) and g(x).
f(x) = x2 – 4
g(x) = 3x
What value(s) of x makes f(x) = g(x)? 
16.
What is the line of symmetry for the quadratic function f(x) = (x – 7)2 – 10?

17.
The graph of f(x) = x2 is translated to produce the graph of g(x) = (x + 3)2 – 5. Describe how the graph of f(x) is translated?

18.
Anita deposits $455 into a savings account. The account has an interest rate of 13% compounded quarterly.  Write a function to represent the amount of money in dollars, A(t), in Anita’s account after t years.
Solutions
1. A

2. (a)
Increases
(b)
200%

3. (a)
Irrational
(b)
Irrational

4. 4x⅔ + 11x⅓
5. -5x2 – 2x + 13
6. x = -5, OR 5, OR -3
        2        2

7. w(4w – 2) = 100
8. 8.75t + 18.50 ≤ 200
9. (11 – a)(11 + a)
10. 100(x + 4)(x + 8)
11. y = 1.25x – 830 
12. r = A – s2
        -2s
13.
x ≤ 5;
GRAPH

14.
x = 4 OR -3

15.
x = -1 OR 4

16.
x = 7

17.
Left 3 and down 5

18.
A(t) = 455(1.0325)4t
